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Chooss the moal appropriate phrase to'com-
plete ﬂ:u::s:.-ntcnnc ‘Wait here.... e
1) while ] come hmk_ Dy uniess [ ratum Inacl:

31 until] have come back. . 3.

4) il I coume back :
Choosa the niost cBective word to il in the
blank to make the sentece meaningfully eom-
plote :

The resnif does not .. ............ my origins! con-
caption a.!'h!lﬂ_mam:h , ,
1) necords with 2) comespond with 33,

4) recomcile io

~ (B) He id that hr. would sitend toe

.

1) 17382465

Chovse the one which best expresses the maan-
mg-n!‘th= underlined plorase in the semence;
{ am lraving Iodia for good

] pormanently

2110 dv good for myself

_3) to do good fat the nm:ntr:.' :
4] to denobody good - - . ' :

Cho-uulh&muluurrwtlltmﬁuwmg

!nthnutmhm.ﬁﬂhu WHMM
| He sajd, “ f afinlf attend the programme”
© (A) He said that hie zhowld snend the

g CEE TG

programime.
1) Only (X} is l:'-*l:lru_t-t '
2yOnly (B} is correct
3) Both {A} and (B) are corract:

L n bk il bk o (PR S

4) Both {A) amd (B} are nat camect

Chense the combination of numbers se tha

alphabels arreaged m:l:mdil;]y wiil from
meanighal werd :

- PLROSUVEIL

2345678 A
) 13728654 |
} 17286354 418243765 |
Select the word which 13:1ﬂesthlheappu-1
site to meanimg to the vaderlined wuld in thej
given gemfencs, >
fﬂssﬁﬂﬂbﬂ'rﬂ.ﬁwd:mn!mmﬁrd
the members to the Roapd, - _ :
1) Decent 7) Relevant

3) Acenrate - 4) Usefol

Cheose the alteraative {o make the settenoe a{
comett reaponse: : !
His wife and children perished ................
1y after he wae hanged :

. 2yafer he was hung

3)after he had heen hanged

4) afier he bud hoen hung

Chovse the correct n]hmatwntu.mﬁi
blamks ;



oo Matiager snd .......... Executive Director3s,

of our hoied is 8 very emergelic person.

1) Thie, the, 2) A,

3) The, an . #) The, No article

. Choose the ‘Grammaticatty Wroog” seatence.

2) He is searching for his pen.

3) Do you believe in God 7

4) Tke Taj had never 1een by us :
Resd the following passage and amswor the

| qewstions by sefeciing the most appropriateal-
* ternative 1 {Quat No 35 to 39) '

‘The supervisor would have to change his37..

altituche toward:? people first. The staff voder
hice musthe perceived a3 humam beings with
fazllimgs and neadn, They ars not antomatiops

within 8 complex work machinery. One of the 38.

- greatest needs of today’s worker is to have a
fecling that he is in contrel of his work place;
und not vige - versa. The besti wey is Lo satisfy
this need as far as poeaible. He.must feel firstly
that his work us meaningful To do this tye sg-

pervisor muss detegate responsibility and lim- 39,

ited suthority for the man to execwte his job well.
The subordinate muost be preperly trained 1o
assune reaponaibility and suwthonty. Once he i
ready to ssswme theae he con be made sccount- 40,
able for hiz job. Very often eupervisors assume
all responsilrilities nnd accountability for fear
of fosing cotitrol of the workplace. This makes
workers under hitn pawns it 8 vast chessboard.
Dislegating acoountability gives the worker a
parpose in life and the need to do a job well,
Mosi impostant is to sit with each worker end
chalk out-commen objeatives and agree norms
- toachieve thent. This givea workers n secarity 41.
an o wha is expested of them. When he has
met bis objectives he hins o foeling of achieve-
roett This feeling of schievement ig the great-
3L IOtVAtor,

“suthority to their suberdin gtes because .
1) subordinates are not ¢apabie enough.

© 7} Kaep them happy

Yy not ot ull necessary 4) oplionnl

R.ﬂpﬂnﬁlbl]lt}‘ and acmunhhtllty make &
watker, ...voia
1) shick ]m duEir:s.

3} tease and frightened.

El_du his.jub prupm:l)r.

* 4) vulnerzble befors bis superyisets.
1311 all ended as we sxpectad. - 35,

sopervisors ¢o oot delegate responnbility a:nd.

= IFdF=

2} they can’t trust théir subordicates.

3] they are a]:prahunswe af losing Iheir huid
on the placs of work. "
4} finia} resonsibility is thedrs, .
The gresiest motivator is :
I} 2 good sapervizer  2}a gnm:l ammmml::
i} a sense of securicy
4} fulfi et of purpose
A hamane anitude on che part of the swpervi-;
sortowards s staff is necessary to........
U} got thom to work

T, - A LI,

1} have 2 congenial atsmiophers ¢t workplace
4) get the best ot the them '

Chigptation of snbordinates of common ob-;
jectives and ow to achizve them is ...

1} moi very important 2 a st

- e

Read the given two senlences nwmbered * "
and 11" and ehoose the most :appmpnabe al-
teraative:

[) Wa have baen pals for years.

A pall of smoke hung over the town.
I Only seotepce “T' is cotrect

2) Only sentece “II” is correct.

¥j-Bath T’ and I1° are cotrect.

4) Both ‘T and “[1” are ot correct .
Choose the most correct u[tmntwa tofill in
the blanks: '
Never judee ...

et ——

amese] ... i gliter

" g alf that plitters in por paid,

1) No prepogition, by
2) No prepositon, with



41,

1) of preposition; by  4) of prepostion, with 4.

Choose the one which best ¢xpresses the mean-
gy of the piven idiom :

,‘S'Diﬂk and Silll,
1) Neat and Clean
2) Outspoken ad Brilliant |
3) A resdy-inade thing #) Garrulous - 50
. Find out the ‘vorrectly spelt’ word:
1) oomission 2) commlsson
3} commision 4} commission

Soms pagts of the seatencs which are labsied
P.Q, R and § have been jumbled up.

Choose the combinations so that the parts 51,
' wrianged scecrdingly will from a meaningfal

sondiecne, ' 52

v 3 R '

P for a ma, .
Q7 when bo accompmiss 8 lady ‘ 53.

R : an accepted cnstom
5 : to open the deor

‘1HPSQR 2) PSRQ 3) RPOS 4} RPSQ 54,

Choose the most correct aliermative which can

be sabstitved for the nnderlined part to make 55.

the semtence gramimatically correct:
‘i}nﬁmngﬁchud’m e srﬂmadmdﬂ

P down Fom his bicycle.’

"1} got from 2} got down 56.
3} pot oft 4} got of
Idsatify the ‘Figure uhpou-:h' ‘in the given line
‘Deall:l. be ot prowd.” 31
1Y Metonyiny - 2] Apuslmuhe
3} Epigram 4) Synecdoche 5B,
. The phobia abour air is ‘ Acrophobia® Ths pho-
bia about dogs is .............
1) Catrophobia 2) Chronophobia 59.
3} Cacopliobia 4) Cynophaolvia
C“hoose the ane which is closest in meéaning to
the given word : '
‘ Gambit’
1} Appeal - 2} Expression - < fll,
3) Trick 4} Explanation
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1} Maiden 2} Pea
3 Elegy 4} Eunnﬂ
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